JEE-Main-29-06-2022-Shift-2 (Memory Based)

Chemistry

Question: Which of the following graph 1s correct for 2s orbital?

Options:
(a)
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Answer: (a)
Solution: 2s orbital has n—1=2 -1 = 1 node

Correct graph of wavetunction and radius for 2s orbital is

\

Question: Match the following.

Column-I Column-II

(1) Siderite (A) ZnCOs

(11) Malachite (B} ZnS

(1) Sphalerite (C) Cu(OH):CuCO;

(1v) Calamine (D) FeCOs
Options:

(A1—C,nu— A;u—D;1iv—B
b1—-=D;u—C;m—A;iv—> B
(c)i—C;ii— B;ilil— A;iv—D
(d)i—D;u1—C;iil > B;iv— A
Answer: (d)

Solution:

(i) Sideritc = FeCOa

(i1) Malachitc = Cu(OH)>CuCOs

(111) Sphalerite = ZnS
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(1v) Calaminc = ZnCQO3;

Question: The spin only magnetic moment of the compound [MnCls]* is
Options:

(a) 4.89

(b) 5.91

(c) 2.83

(d) 1.73

Answer: (b)

Solution:

[MnCle]*

Mn**: [Ar] 3d°

Number of unpaired electrons = 5

Magnetic moment of the complex

quﬂ'ﬂ(ﬂ-l-Z) =35=591 BM.

Question: Which of the following product is formed when Friedel craft reaction of aniline
takes place?

Options;
(a)

+ -—
NH,AICI
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NH

(d)
NH,

R
Answer: (a)

Solution: Aniline acts as Lewis base and reacts with aluminium chloride to form salt. Due to
this, nitrogen of aniline acquires positive charge and acts as strong deactivating group.

Question: Which of the following specics have carbonate ion?
Options:

(a) Washing Soda

(b) Caustic Soda

(c) Baking Soda

(d) All of the above

Answer: (a)

Solution:

Washing Soda = Na,COs3 . 10H20
Caustic Soda = NaOH

Baking Soda = NaHCO;

Question: Dichlorodiphenyltrichlorocthane act as:
Options:

(a) Antiseptic

(b) Disinfectant

(¢) Pesticide

(d) Water softner

Answer: (c)
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Solution: DDT (dichloro-diphenyl-trichloroethane) 1s used as pesticide for insect control

Question: Consider the following calculation:

0.002858x0.112 X
0.5702

What is X 7

Options:

(a) 0.00056

(b) 0.000561

(c) 0.000563

(d) 0.0005

Answer: (b)

Solution:

Number of significant fig in 0.002858 =4
Number of significant figin 0.112 =3
Number of significant fig in 0.5702 =4
Answer should be 1n 3 significant figures

0.002858 x0.112
0.5702

=0.000561

Question: Which of the following structure of protein does not change its structure on
heating?

Options:

(a) Primary
(b) Secondary
(¢) Quaternary
(d) Tertiary
Answer: (a)

Solution: Primary structure of protein is not affected by heat.

Question: CH4, NH4", BH4 which statement is truc about them

-
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Options;

(a) They arc isoclectronic specics

(b} 2 of them are 1soclectronic and all tetrahedral structure
(¢) All are 1soelectronic and tetrahedral structure

(d) All are 1soelectronic and 2 are tetrahedral

Answer: (¢)

Solution:
H H H
\ ; L
C N B\
o e w | N
H H H

All these are tetrahedral and are 1soelectronic. (10 electrons)

Question: The shape and number of lone pairs present in one molecule of BrFs arc
respectively

Options;

(a) Tetrahedral, five

(b) T-shape, two

(c) Trigonal planar, zero
(d) T-shape, eleven
Answer: (d)

Solution:

NP

W —— Br

/

Question: Common Monomer of Bakelite and Novolac is

-
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Options;

(a) Phenol and formaldcehyde
(b) Caprolactum

(¢) Ethene and phenol

(d) Formaldehyde and neoprene
Answer: (a)

Solution: Monomers for both the polymers are phenol and formaldehyde.

Question: What 1s formed by the mixture of Chloroxylenol and terpineol?
Options:

(a) Disinfectant

(b) Antibiotic

(c) Antiseptic

(d) Antacid

Answer: (¢)

Solution: Mixture of chloroxylenol and terpineol is known as Dettol. It acts as an antiseptic

Question: Find the volume in cm” at standard temperature and pressure. Given 16 g of
Hydrogen and 128 g of oxygen and value of R is 0.0821 L atm mol™' K™

Answer: 269000.00

Solution:

Number of moles of hydrogen = = = 8 moles

: : 2
Number of moles of oxygen = % =4 moles

Total number of moles = 12
PV =nRT

CaRT  12x0.0821x2.23
P I

V =268.9L = 269L = 269000 cm’

Question: Half lifc of a radioactive decay is 5 years. The time required to fall the rate of
decay to 6.25 %(in years) 1s
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Answer: 20.00

Solution:

1 T
N =N“[Ej D)

N =6.25 % of No

6.25
N, x—
“ 100

N 1

Fromeq (1)

o)
Y-

t =20 years

Question: Calculate the number of © bonds in product P.

O

dil. NaOH

Heat

Answer: 2.00

Solution:

» P(major product)

O O HoO
) @ dil. NaOH Heat
yd e S

Number of w bond =2

P(major product)
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Question: How many chiral alcohols have molecular formula CaHO (including
stercoisomers)?

Answer: 2.00

Solution: Molecular formula = C4H (O

5-—=0

H-X-N _ 10
2 @

Dcgrec of unsaturation = (C + 1) =

Possible alcohols are

//fxﬂm//fx“oH ///“ijy//' E/J<:jﬁ1
OH

OH (Optically active)

Hence only one optically active alcohol so number of chiral alcohols 1s 2

Question:

OH

(1)K.Cr,0,

P
(2) C,H.MgBr

(3) H,O/H",A

Number of sp” hybridised carbon are
Answer: 8.00

Solution:

-
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olmer

Number of sp* hybridised carbon are 8

Lo H MgBr

H O;’H

6 -HO

-

T
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